Chapter Thirteen: The LaPlace Transform 1093

Given the following functions F(s), find ().

s+ 8
(@) F(s) = SE("”S s
!

(b) F(s) = 52(5‘/—4- 1)*

SOLUTION:
a) F“:’\’:.},‘:_L,,r %’;3_-+ = Ky = Z K3= 4 - l/,+
s S Sy A
Vils 3-;-»'2) F-2)Y= L - 3 oz kz 4 Yy = Ky= =14

— 4t
Fés): z. -L/_ﬁt4~ .L/ELM‘ - {@Lﬁz [Z"é; - '/4+1/\{(i ju»l:é‘\.»‘[

!)3 F( S’}:‘- __Y_{_L .i_—_%% + K? v \..é:.(_, \C’i = \ K’—S": |
s% S (s+ )% s\
2t §=1 0 FOY)= b v v, 4l Lk - Vot K= — |
j u ”ZE} z Ky=-2

dob S=-2, Fle) =g o= oo L R R NP B

N E

FL‘S§3 ._".\,.»._, WZ‘._..._,,‘_ A 4

f ()= [—k ~z+ te Ze,”tjw““)




